B DIN6350

4-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS
oJ BRI\ 55 70 BP0 /T S R 22 81

/R 3 M > Dimensions

BE
1
ac
2D
oA

I]"
]
oL

| L

Ll \M
_#R18 5= > Specifications : BAT/UNIT:mm
Bl /58 HEEMEE SRS Max. Gripping Diameter
MODEL A B €& D E G F H J K L M Max.Speed  syamimis IR
1 SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping
4DAKT-08 200 8265 160 176 55 3-MiOxi5P 12 82 28 43 11 4-M12x1.75P 3500 28-8205 858-2190
4DAKT-10 250 91 200 224 76 3-Mi2x1.75P 13 102 35 545 12 4-Mi2x1.75P 2600 a12-0265 078-9248
4DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 565 14 4-M12x1.75P 2200 215-8323 086-0296
4DAKT-15 400 122 330 362 136 3-Mi6x2P 15 150 50 745 17 4-M12x175P 1600 @30-419 @124-0396

%% DIN6350

6-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCK
o] BT\ 55 I B 7 <SR A 22 BH

FR 5 B > Dimensions
=] G
[ =
K =" |
ettt %8l 8
F
T
M
__¥21& % > Specifications " B{I/UNT:mm
BIZL/ 15 B miEiEE #EEWE Max. Gripping Diameter
MODEL A B C D E G F H J K L M Max.Speed  sysRipiE RfEIEE
1 SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping
BDAKT-08 200 825 160 176 55 3-MiOxi5P 12 82 28 43 11 4-Mi12x1.75P 2800 e17-2193 e67-g178
6DAKT-10 250 91 200 224 76 3-Mi2x1.75P 13 102 35 545 12 4-M12x1.75P 2200 219-8248 284-0232
BDAKT-12 315 103 260 288 103 3-Mi6x2P 14 1175 40 B5B.5 14 4-Mi12x1.75P 1800 223-2323 293-2296
BDAKT-15 400 122 330 362 136 3-Mi6x2P 15 150 50 745 17 4-M12x1.75P 1300 230-2419 2124-2396



